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The movie will be over at two o'clock.
The movie will end at five o'clock.

The movie will last about three hours.
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The movie will start at three thirty.
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Julie decided to study math hard just before the exam.
Julie failed the exam and decided to study math hard.
Julie studied math hard but she failed the exam.

Julie studied math harder before than she does now.
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The speaker behaves appropriately as Tom'’s boss.
The speaker doesn't like the way his boss behaves.
Tom will be the speaker’s boss in the near future.

Tom’s way of speaking makes the speaker uncomfortable.
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The hotel's service was the worst the speaker had ever received.
The hotel's service wasn't so good as the speaker had expected.
The speaker was greatly satisfied with the hotel's service.

The speaker wasn't satisfied with the hotel's service.
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Which is true according to the conversation? E
Both the man and the woman have a runny nose.

Neither the man nor the woman is suffering from hay fever.

The man has caught a cold and can't stop coughing.
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The woman thinks she has caught the flu.
13 KREFETRARED#HE LTI T,
Which language has the man learned?

(1) Danish (@) Finnish
(3) German (4 Norwegian

14 BrEL P EETHZ LTI,
What is the woman likely to do?
Ask her friend to attend the party

Attend the party by herself
Attend the party with her friend
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Decide not to attend the party
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What do the man and the woman decide to do?
Go to “Miguel River” tomorrow

Have dinner at the restaurant they often go to

Make a reservation at “Round Grill”
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Stay at home tomorrow
16 X arOREiThH Y TUHEEE LTwE T,
Why was the man having a problem?

@ He got the password mixed up.
(2) He mistyped his username.
(3 He remembered Lucy’s birthday incorrectly.

(4) He wasn't able to reach the login screen.
7 SCHDPIRIZEE LT T,
What does the girl think about her new school?

@ She finds it difficult to make new friends.
@) She has no clubs she wants to join.
@ Sheis fed up with doing homework.

@ She wishes her homeroom teacher were a fun person.
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What do you want to be when you grow up?
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Athlete
Doctor

Police Officer
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Teacher
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International Robot Competition: Summary of the Results

Participant Score Prize

Anne Thatcher 152.5 22

Michael Wong 124.7 23

Thomas Trump 89.9 24

Yua Maruyama 205.6 25

Digital camera

Medal

Smartwatch

Digital camera, Medal

Digital camera, Smartwatch
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Medal, Smartwatch

CNTHEAMARRDY T,

- 1a -




FARIBIIR26D 1FTY.

A S, RENLEMICRLEI bt o
DR (D~@) D) LA o—0BURE V. BOREBEI LT A4

THDEVEEA. RREEHEROBBPEAD NS, SBFTnE S,

i

EwTwEg,
HRIHEZ T DR

A, MHEAS0 FVLLEI00 FIVELFTh b o &
B. 1 EMLUNICAFTEALZ L
C. #v59A4»THEXLTELZE

H7zlE, BHRICELIEAD T LEY FERD LD, EARFEROER %

Items

Condition A

Condition B

Condition C

Accessory

Bouquet

Hand Cream

® | @ @@ 2

Assortment of Sweets

5126 “ " is the item you are most likely to choose.

Accessory
Bouquet

Hand Cream

® @ e 0

Assortment of Sweets
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Biomes in Japan

CWhat is a Biome?

- the vegetation of an area
- primarily depending on average yearly and amounts of rainfall

OCharacteristics of Japan
- rainy and humid
- long from north to south

- significantly different in altitude

OVertical Distribution of Biomes

Zone Altitude Main Tree
low below 700m & evergreen
mountain 700 - 1,500m & summer-green
subalpine 1,500 - 2,500m needle-leaved &
alpine above 2,500m II' & alpine meadow
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(1) carbon dioxide @ humidity
@ nutrients @ temperature
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(1) broad-leaved @ evergreen @ low tree
needle-leaved (5) summer-green 6 young tree
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(1) A biome is the vegetation of an area and doesn't include animal groups.

@) In general, the temperature drops by 6 degrees Celsius with each increase of
100 meters in altitude.

(3) The “forest limit” means the upper limit of the “subalpine zone.”

@ Though Japan is long from north to south, the horizontal distribution of

biomes is rarely found.
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Shift in Areas Suitable for Apple Cultivation in Japan

(1) By the year 2050, there will be quite a few arcas suitable for apple cultivation
in Western Japan.

(@) Climatic differences have a significant impact both on vertical distribution
and horizontal distribution of biomes.

(3) Forest biomes in Eastern Japan may become more diverse because of global
warming.

(4) Global warming will lower the “forest limit’ and make apple cultivation

more difficult.

ZhTESMIEEDY T,

-18-



Bl s v FEEFI1IERELFET,

EZORITA & B oD TwET,

A  FOMALRM - B0 2MTY. SAOMBEERE, ERTROM0% L
PLTRLEDZ b0, WonERE (D~0) 09 b2 b2 oR0 % x
Ve (o rdErhTteid,) KREMVWERCHBEISEA N AR, &
EHNRNET,

R
Sophia #* Bailey & 2=t — 220V Tz LTWE ¥,

f134 What is Bailey’s main point?

(1) Buying fairtrade products can help improve the situation of producers.

(2) Consumers should change their tendency to seek expensive products.

(3) Developing countries depend on coffee bean production for much of their
income.

@) Fairtrade coffee is becoming popular because of its excellent flavor and

aroma.
135 What does Sophia think about fairtrade products?
Fairtrade products are of poor quality despite their high prices.

Fairtrade products can lower the living standards in developing countries.

Some people avoid buying fairtrade products due to their high prices.

(ONONONC

The certification process of a fairtrade product is too complex.
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Mike

Nobuko

Boris

Kate
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Nobuko

Kate, Nobuko

Mike, Nobuko
Boris, Mike, Nobuko
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Changes in Vegetarian Population

. (100 major countries/regions)
(million)

800
600 /

400

200

2000 2005 2010 2015 2020 (year)

cricket

chicken

pork

beef

Protein Content per 100 grams

40 60 80 (g)

Have You Ever Eaten an Insect?

B !'ve had it and want to try it again.
@ 1've never had it and want to try it.
@1've had it and don't want to try it again.

O!'ve never had it and don't want to try it.

(liter)
2,500

2,000

1,500

1,000

500

0

How Much Water Is Needed
to Produce 100 grams of Food?

beef pork chicken cricket
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